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673 2 60 | 6,3(0,3) R [380| 50 55k et o i b
6Z4 2-2 62 |6,3(0,5) R. {350 80 . LA S S = L
6Z5 2-2 75 [12,6(0,4) R 230 60 —_ — —_— e — — | Prise médiane sur filament
6Z7 3-3 135 | 6,3(0,3) P(2,5) 135 3 9.000 —— 0 — —_ — | Push-pull classe B
1A4 3 100 | 6,3(0,3) BFE [280 [ 10 55 i "3 | 800 6.700 3
. BF 90 9 — — 0 0 7.700 2,6
IA5 4 114 |7(0,178) | P(1,9) |125 | 40 2.700 125 -9 200 | 17.000 | 61 | ouiot Loctar
7RG 2.2 172 | 7(0,16) D |180] 10 = & = = N
1R7 5V 111 | 6,3(0,3) HF 250 8,6 — e 100 -3-35 300 0,8 MQ 2 P‘u]dt Loktal
1E8 8V 123 16,3(0,15) Cc 250 3 — 100 -3-30 300 0,7 ML) 0,6 | Culot Loktal
B4 3 100 7(0,32) BF 250 0,9 = — -2 2.200 66.000 1,5 | Culot Loktal
185 5 108 | 7(0,43) | P3.4) | 280| 32 7.800 280 g\ | 475 L 202 o okt
7B6 2-2-3 103 7(0,32) D-BF 250 0,2 — — -2 2.200 91.000 1,1 | Culot Loktal
1B7 S 111 }86,3(0,15)f HF 250 8,5 — 100 -3-40 300 0,7 MQ 1,7 | Culot Loktal
B8 74 E23 7(0,32) c 250 3,5 — 100 -3 800 0,36 M | 0,55 | Culot Loktal
C4 2 192 }6,3(0,15) D 150 8 — — — — — —_—
1C5 4 114 7(0,48) P(4,25) ! 250 5 45 5.000 ; 250 -12,5 .250 —_— 4,1 | Culot Loktal
1C6 22-3 | 103 |6,3(0,15)| DBF |2s0| 13 e o 21 800 | 0,1MQ | I |cuot Loktal
D-BF 250 — 1 0,25MQ — 0 0 — — | Résistance grille 10 ML
1C1 5 -173 7(0,16) HF 230 2 o 100 -3 1.000 2 MQ 153 Loktal
HF 100 1,8 — 100 -3 1.300 | 1,2MOQ 1,2
D7 3-6V 174 | 17(0,48) C 25015143 —_ 100 -3 600 | 1,5 MQ | 0,27 | Toktal
1E5 5 69 | 6,3(0,3) HF 250 2 — 100 -3 1.200 | 1,5MQ 1,22 | Analogue & 6086




